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 Part—A 

1. Comment on any four of the following 

statements : 5+5+5+5=20 

(a) “Basic functions, processes and 

techniques of international business are 

essentially the same as those involved 

in domestic business.” 

(b) “Global environment exerts influence 

over domestic as well as overseas 

operations of a company.”  

(c) “Countries running deficits in their 

balance of payments accounts generally 

impose controls on movement of foreign 

exchange out of their economies.” 

(d) “Free trade is always better than no 

trade.” 
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(e) “Theory of comparative advantage 

provides the basis for trade.” 

(f) “According to Heckscher-Ohlin-

Samuelson theorem, a country which is 

relatively abundant in labour will have 

comparative advantage in the labour 

intensive goods. ” 

 Part—B 

Note : Attempt any four of the following 

questions.  4×20=80 

2. Define international business environment. 

Also differentiate between micro and macro 

environments. How does economic 

environment affect the business decision of a 

firm ?   6+7+7=20 
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3. Explain the modern theory of trade. 20 

4. Write short notes on the following :  

5+5+5+5=20 

(a) Terms of trade 

(b) Free trade and gains from trade 

(c) Balance of Payments 

(d) Special Drawing Rights 

5. Distinguish between tariff and non-tariff 

barriers. Explain various non-tariff barriers, 

which are normally used to restrict the 

international trade. 10+10=20  

6. What do you mean by Globalization ? 

Describe various forces of globalization. Do 

you think that India has entered the 

globalization era significantly ?  6+7+7=20
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7. What is a TNC ? Why do firms become 

transnational ? Discuss the main 

advantages and disadvantages of TNCs 

operations for the host country and the 

home country. 5+5+10=20 

8. What were the basic reasons for setting up 

the International Monetary Fund (IMF) ? 

Has the IMF succeeded in achieving its 

objectives ? Enumerate the constrains faced 

by the IMF in carrying out its operations.  

6+6+8=20 
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 IBO–001 

varjkZ"Vªh; O;olk; izpkyu esa  

LukrdksÙkj fMIyksek@ 

okf.kT; esa LukrdksÙkj mikf/k 

(ih- th- Mh- vkbZ- ch- vks-@,e- dkWe-) 

l=kar ijh{kk  

twu] 2025 

vkbZ-ch-vks-&001 % vUrjkZ"Vªh; O;kikj ifjos'k 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % nksuksa [k.Mksa ls funsZ'kkuqlkj mÙkj nhft,A 
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[k.Mµd 

1- fuEufyf[kr esa ls fdUgha pkj dFkuksa ij fVIif.k;k¡  

dhft, %   5+5+5+5=20 

(v) ßvarjkZ"Vªh; O;kikj ds cqfu;knh dk;Z] izfØ;k,¡ vkSj 

rduhdsa ewyr% ?kjsyw O;kikj ds leku gh gSaAÞ  

(c) ßoSf'od ifjos'k fdlh dEiuh ds ?kjsyw vkSj fons'kh 

ifjpkyu ij izHkko Mkyrk gSAÞ 

(l) ßHkqxrku larqyu [kkrksa esa ?kkVs okys ns'k vkerkSj ij 

viuh vFkZO;oLFkkvksa ls fons'kh eqnzk dh vkoktkgh 

ij fu;a=.k yxkrs gSaAÞ 

(n) ßeqDr O;kikj ges'kk O;kikj u djus ls csgrj gksrk 

gSAÞ 

(;) ßvkisf{kd ykHk fl¼kUr O;kikj dk vk/kkj iznku 

djrk gSAÞ 
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(j) ßgSD'kj&vksg~fyu&lSeqvYlu izes; ds vuqlkj] ftl 

ns'k esa Je vis{kkÏr izpqj gS] mls Je xgu oLrqvksa 

esa rqyukRed ykHk gksxkAÞ 

[k.Mµ[k 

uksV % fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mÙkj nhft,A 

    4×20=80 

2- varjkZ"Vªh; O;kolkf;d ifjos'k dks ifjHkkf"kr dhft,A 

blds vykok] lw{e vkSj LFkwy ifjos'k ds chp varj 

dhft,A vkfFkZd ifjos'k fdlh QeZ ds O;kolkf;d 

fu.kZ;ksa dks dSls izHkkfor djrk gS \ 6+7+7=20 

3- O;kikj ds vk/kqfud fl¼kar dh O;k[;k dhft,A 20 

4- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %  

5+5+5+5=20 

(v) O;kikj dh 'krs± 
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(c) eqDr O;kikj vkSj O;kikj ls ykHk 

(l) Hkqxrku larqyu 

(n) fo'ks"k vkgj.k vf/kdkj 

5- VSfjQ vkSj xSj&VSfjQ (iz'kqYd vkSj iz'kqYdfoghu) ck/kkvksa 

ds chp varj crkb,A fofHkék xSj&VSfjQ ck/kkvksa dh 

O;k[;k dhft,] ftudk mi;ksx vkerkSj ij varjkZ"Vªh; 

O;kikj dks lhfer djus ds fy, fd;k tkrk gSA  

10+10=20 

6- oS'ohdj.k ls vki D;k le>rs gSa \ oS'ohdj.k dh fofHkék 

'kfDr;ksa dk o.kZu dhft,A D;k vkidks yxrk gS fd Hkkjr 

oS'ohdj.k ds ;qx esa egRoiw.kZ :i ls izos'k dj pqdk gS\ 

6+7+7=20 

7- ikj jk"Vªh; fuxe (TNC) D;k gS \ dEifu;k¡ ikj jk"Vªh; 

D;ksa gks tkrh gSa \ estcku ns'k vkSj Lons'k ds fy,  

Vh-,u-lh- lapkyu ds eq[; Qk;ns vkSj uqdlkuksa ij ppkZ 

dhft,A   5+5+10=20 
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8- varjkZ"Vªh; eqnzk dks"k (IMF) dh LFkkiuk ds ewy dkj.k 

D;k Fks \ D;k vkbZ- ,e- ,Q- vius mís';ksa dks izkIr djus 

esa lQy jgk gS \ vkbZ- ,e- ,Q- dks vius dk;ks± dks 

pkyus esa fdu ck/kkvksa dk lkeuk djuk iM+rk gS] bldh 

O;k[;k dhft,A 6+6+8=20  

× × × × × 

 

 

 

 

 

 

 


